20t

M=18. 40t / v 1, 388°.°
N-1328(5-0:B0) 83
v 708. °
NE703x(81-0=B0) 44
- = 39
12t
M=11.99t/ v 1,088°°
N-1088(2-0:55R1 %4
v 359. °
NE359%x(91- 05581 31

63




20

N Q.

N AL

N Q.

NO. 28

10.000

10.000

26.000

2 50.
5 06.

6 18.

6 77.

2 3
3708 378
5602 5680
6457 388

1,33

N Q.

N QL

N Q.

NO. 28

10.00

10.00

26.00

2 40.
2 78.

2 78.

2 78.

250 250
270 278
270 168

708




12t

2 2 3 2 2 3
MO. 286.0 MO. 286. 0
4.00 278 6050 240 4.00 22 2209 916
N CB. 6 23. N CB. 2 29,
10.000 6206 626 10.000 2209 220
N G, 6 20. N Gl 2 29,
00 00
NO. 4 1 59. NO. 4 36
4.080 1556 673 2. 00 3.06 76
A- A 1 54, A- A 36
6. 00 1409 9098 6.00 3.06 2 41.
B- B 1 44, B- B 36
3.00 1452 556 2. 00 3.06 76
NO. 4 1 41. NO. 4 36

28.090 1,088. 24.090 359
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10

40
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